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Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt
of this question paper.

2. Attempt all questions. Show your working notes as
part of your answer. |

3.  All questions carry equal marks.
4. Use of simple calculator is allowed.

5 Apswers may be written either in English or Hindi;
but the same medium should be used throughout the

paper.
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1. (a) What is management accounting? Discuss in brief
the nature and scope of management accounting.

y | (7

(b) Define responsibility accounting. Explain the
various responsibility centres that are necessary
ingredients for the .success of the system of

@)

responsibility accounting,

TS
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- Or

(2) What is meant by cost reduction? How is it
dlfferent from cost control? (7

(b) Discusg with suitable examples the ‘return on
Investment method’ and ‘residual income method’
used for divisional performance measurement.

(8)

(a) Dlstlngu1sh between margmal cost1ng and
‘absorption costing. - )

(b) The following data is available for X Ltd.

Rs.

| Selling Price 40 per unit

Variable manufacturing costs | 22 per unit -

Vatiable selling costs 6 per unit
| Fixed factory overheads 10,80,000 per year
Fixed selling costs 5,04,000 per year

You are required to compute :

(i) Break-even point expressed in amount of
sales in rupees;

P.T.O.
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[

(i) Number of units that must

_ _ so0ld
a profit of Rs. 1,20,000 pe,

to Carn
year,

iii) How many units must be gq

(ii1) y ld to egpp i

income of 10% of sales?
(10)

Or

(a) A company is intending to purchase a pey plant

There are two alternative choices available -

Plant A: The operation of this plant will result in
. a fixed cost of Rs. 80,000 and variable costs of

Rs. 8 per unit; -

Plant B: The purchase of this plant will result in
a fixed cost of Rs. 1,20,000.and variable-costs of
Rs. 6 ,per’-unit.

- Coniphte the cost break-even point and state which

planf is‘to be preferred and when. )]

(b) Moon Ltd. produces a product M selling price of
, which is Rs. 160, Its variable cost is Rs. 64 per
unit, Fixed cost of the company is Rs. 23,04,000.

»\\ "
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The ¢
¢ company operates at 4 matgin of safety of

0
40%. What is the profit per annum?

The company proposes to add another product N
selling price of which is Rs, 100 and variable cost
| is Rs. 20 per unit. The fixed cost of the company
in that event increases to Rs. 26,66,400. The mix
Qf M and N will be 7:3. Calculate thé break-even

point of M and N in Value. and units. (10)

3. Jupiter Ltd. has an annual production of 90,000 units
for a motor component. The component cost structure

is as given below :

‘Rs.
Materials - g s 540 per unit
Labour (25% fixed) | 360 perunit
‘| Variable expenses , | 180 per unit
Fiﬁed expenses 270 per unit
Total | 1,350 per unit

P.T.O.
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(a) The 1)i11‘c11nse managet has an offer from a supplier
who is willing to supply the component at
Rs. 1,080, Should the component be purchased and

production stopped? | | | (5)

(b) Assume the 'resoﬁrces' now used for this
c.om-pone.nt’s manufacture are to be used to
prbduce another new product for Which‘the selling
price is Rs. 970. In this case the material price
will be Rs. 400 per unit. 90,000 units of this product
caﬁ be prp‘duced ,at.fche same coét -basis as ébové

~ for labour ‘and' expenseé.- Discuss whether it
would be advisabl_e to di\}e'rt the resources to
manufacture _that new product, on the footing that
‘the coxﬁponent- presently being produced would;
insté_ad of béi'ng p’foduc’ed, be pufchased from the

market, ' (10)

Or

.
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The following particulars ate taken from the records
of a Company engaged in manufacturing two products,

M and N, from a certain matetial :

] . Product M | Prodtict N |
(per unit) | (per unit)
Rs

Selling price’ 1 5,000 I1{(5;,'000 ]
Material cost (Rs, 100 por kg) | 1,000 2,500
Direct labour (Rs, 60 por hour) | 1,500 | 3,000
Variable overhead 500 .| 1,000

Total fixed overheads Rs. 40,00,000

(a) Comment on the profitability of each p‘ro'duc,t when
(1) Total sales-in,val»ué-»'is limited; (ii)-Raw material
is in short supply; (‘i.ii‘) Production capacity is the

limiting factor. | . - 9)

(b)’ If the total availabil“ity of raw materials is 40,000
kg, and maximum sales potential of eac'h-.p,roduc_t
is 2,000 units, find the product mix,'to yield
makimﬁm profit and also find the maximum profit.

(6)

P.T.O.
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4. (a) What is meant by petformance budgeting? What

steps are required to be taken for Prepariné

performance bud get? (5)

(b) From the following data relating to Mars Ltd. at

60% activity, prepare a budget at 80% and 100%

activity :

Pr(‘)‘ductiori"at 60% capa'city' S 6,000-u’nits
JMéterialé ‘. R | = Rs..ZOO per unit
Labour' | - Rs. 8('):per unit
.Exp_e.n'ses_ Rs. 20 per unit
Factory egpeﬁses (40% fixed) - | Rs. 8,00,000

' Admini_sh‘aﬁon expenses (60% fixed) Rs. 6,00,000

(10)
Or. 3

The budget manager of Sunflower Ltd. is preparing
flexible budget for the accounting year starting from
~April 1, 2022. The company produces one product

namely SFII. Direct material costs Rs. 14 per unit.

S
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Direct |

a . . ;
abour averages Rs. 5 per hour and requires

y 1-6 - ¥
1‘9“1‘8 to produce one unit of §p1, Salesmen are

paid a Commission of Rs. 2 per unit gold, Fixed selling

and administrative expenses amount to Rs. 1,70,000

per year,

Mgnufacturing overhead is estimated in the following

amounts under specified volumes

Volume of production in units 1,20,000 1,50,000
Expenses | Rs. Rs.
Indirect material 528,000 | 6,60,000
Indirect labour 3,00,000 | 3,75,000
Inspection 1,80,000° | 2,25,000
Maintenance 1,68,000 | 2,04,000
Supervision 13.96,000 |4,68,000
bcpreciation of plant»a'nd equipment 1,80,000 1,80,000
Engineering services | * 1 1,88,000 | 1,88,000
Total lﬁanufécmﬁng»overhead' 19,40,000 | 23,00,000

Prepare ‘a total cost budget for 1,40,000 units of
| sy

- production.

P.T.O.
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(n) Discuss briefly the advantages and limitations of '

standard costing, - (5)

5.

(b) The standard cost of a certain chemical mixture

was :
Material A 60% at Rs. 5,000 per ton
Material B 40% at Rs. 7,000 per ton

A standard yield of 90% is expected in production.

Following materials were consumed during the

period ending March 31 2023 :
115 tons of materlal A at Rs 4,600 per ton

85 tons. of material B at Rs. 7, 200 per ton.

Loss in production was 29 tons. Calculate all

(10)

material variances.
Or

A group of 10 skilled and 20 unskilled workefs were
expected to produc
“hour day. The standard
Rs. 500 and Rs. 300 respec

of 15 skilled and 10 unskilled'

e 400 kg of chemlcal XYZ in an 8
hourly wage rate was flxed at
tively. Actually, a group
workers were deployed

and paid for 8 hour day at an hourly wage rate of

N
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Rs. 440 ang Rs. 360 respectively, T hours were
wasted for the eppire group due to power failure and
0111)’ 300 kg of chemical XY2Z Was produced., You are
required to Compute: (i) Labour cog variance; (ii)
Labour rate varignee; (iii) Idle time variance; (iv)
. Labour efficiency variance; (v) Laboyr mix variance;

~(vi) Labour yield variance. (15)
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